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Solved Examples

8
1.Ifsinf = 7 then the value of cos @ and tan@ is

(d) None of these


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ksUMgCXxQtiI
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D. None of these

Answer: A

° Watch Video Solution

2.1fcot A =

, then sin A. cos A is equal to
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https://dl.doubtnut.com/l/_ksUMgCXxQtiI
https://dl.doubtnut.com/l/_s9lYUNjirSTu

D.1

Answer: C

o Watch Video Solution

Exam Booster For Cracking Exam

1. AABC has a right angle at A If

BC = /2 and AB = AC = 1then sin B is equal to
1
(a) E
(b) v/2
V3

(c) T
(d) v/3

1
A —

V2


https://dl.doubtnut.com/l/_s9lYUNjirSTu
https://dl.doubtnut.com/l/_5AHWveqNUgTZ

Answer: A

° Watch Video Solution

2.In APQR, Q is a right angle, PQQ = 3 and QR = 4. If

/P = a and R = 3, then tan g is equal to

w|ot olw |w w|k


https://dl.doubtnut.com/l/_5AHWveqNUgTZ
https://dl.doubtnut.com/l/_nWpvbk4zPzS7

Answer: B

° Watch Video Solution

1
3.1f sin B = 7 then 3cos B — 4 cos® B is equal to

(a) 1
b 3
()Z
(c)O

d21
(25


https://dl.doubtnut.com/l/_nWpvbk4zPzS7
https://dl.doubtnut.com/l/_qTftzCf6rV6Y

Answer: C

o Watch Video Solution

5 tana |
4.1f seca = — then ———— is equal to
4 1+ tan® o
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Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qTftzCf6rV6Y
https://dl.doubtnut.com/l/_EDgG4rPcUIeE

5. If

tan A = landtanB = /3, evaluate cos A cos B — sin A sin B.

A 14+4/3
2v/2

B.l_\/g
2v/2
2¢/2

3

D.1

Answer: B

° Watch Video Solution

1 — sinf

6.I1f 3tanf = 4, then find -
1+ siné

&

Al
2


https://dl.doubtnut.com/l/_ejvTF3TXaTOx
https://dl.doubtnut.com/l/_Ld4n9hNrKgcD
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D. None of these

Answer: C

° Watch Video Solution

sinf + cos 6
is equal to

7.1f 16 cot 0 = 12, then —
sinf — cos 6
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o
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https://dl.doubtnut.com/l/_Ld4n9hNrKgcD
https://dl.doubtnut.com/l/_2L4Uk9oHqlQc

Answer: A

o Watch Video Solution

1
8.1ftand + —— = 2, find the value of tan® 6 +
tan @ tan2 0

A.6
B.4
C.2

D.3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2L4Uk9oHqlQc
https://dl.doubtnut.com/l/_gEI4wwNJUu9C

12 2sinfcosf
O.If tanf = 3 then value of is

3 cos2 0 — sin® 0

123
A o5

312
25

231
25
192
25

Answer: B

° Watch Video Solution

13 2 si —
10.If secd = — then STHH 3 cos 6 is equal to
5 4sinf — 9cos O



https://dl.doubtnut.com/l/_y9nZ9tf9bQi7
https://dl.doubtnut.com/l/_azA4NNpBEVl9

C.3

D. 2

Answer: C

° Watch Video Solution

1
11. The value of x, if cos? 45° — sec? 60° + sin?30° = 3

is

A 31

B. 32

C31
!

D. None of these


https://dl.doubtnut.com/l/_azA4NNpBEVl9
https://dl.doubtnut.com/l/_naLu0Bjh2H1M

Answer: C

o Watch Video Solution

12.1f /3tan20 — 3 = O then 0 =

A.30°
B.60°
C.90°

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_naLu0Bjh2H1M
https://dl.doubtnut.com/l/_Z7xpqO6CbApC

1 _
13. If tan(A — B) = — and tan(4 + B) = /3.

V3

the values of A and B are

A.45°,15°
B.40°, 20°
C.30°,60°

D. None of these

Answer: A

then

° Watch Video Solution

14.1f 4/2sin(60° — #) = 1, then the value of § is

A.20°


https://dl.doubtnut.com/l/_FjbUJXL1wAFp
https://dl.doubtnut.com/l/_S4q52DZhP671

B.30°

C.15°

D. None of these

Answer: C

° Watch Video Solution

15. ABC is a right angled triangle, right angled at C. If

/A = 60° and AB = 40 unit, then the length of AC is

A. 30 unit

B. 20 unit

C.40 unit

D. None of these


https://dl.doubtnut.com/l/_S4q52DZhP671
https://dl.doubtnut.com/l/_hychhjcG70Cv

Answer: B

o Watch Video Solution

16.In a rectangle ABCD, AB=15 cm /BAC = 60° then BC is
equal to

A.15/2cm

B. 15cm

C.15,/5cm

D. 15,/3cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_hychhjcG70Cv
https://dl.doubtnut.com/l/_JWHnTlFlGhA0

17. The altitude AD of a ABC, in which ZA obtuse and,
AD = 10cm. If BD = 10cmandCD = 10,/3cm,
determine ZA.

A.60°

B.30°

C.105°

D. None of these

Answer: C

° Watch Video Solution

18. If a rhombus of side 10 cm has two angles of 60° each.

Then the length of diagonals (in cm) are


https://dl.doubtnut.com/l/_vLQKQRiASssZ
https://dl.doubtnut.com/l/_XKCfWBxWi43y

A.10,/3, 10
B.10+/2, 10
C.5,10

D. None of these

Answer: A

° Watch Video Solution

19. If cos 2z = cos60°cos 30° + sin60°sin30°, then the

value of x is

A.15°

B.40°

C.30°


https://dl.doubtnut.com/l/_XKCfWBxWi43y
https://dl.doubtnut.com/l/_eTzhWBNP7QEc

D. None of these

Answer: A

o Watch Video Solution

20. If 3secA —2cos B = /3 and /B = 30°, then the

value of cos(A — B) is

A1l
B.2
C.3

D.O

Answer: A



https://dl.doubtnut.com/l/_eTzhWBNP7QEc
https://dl.doubtnut.com/l/_S4XmPAiMrJq2

[ W Watch Video Solution

21. The value of
tan?60° + 4sin®45° + 3sec?30° + 5cos290°
IS
cosec30° + sec60° — cot? 30°

A5

B.3

C.9

D.2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_S4XmPAiMrJq2
https://dl.doubtnut.com/l/_WDiCGvbsuju5

) 12 3
22. If sinf = — eR and T < 0 < 5 then the value of
secf is
A 13
"5
5 13
5
c 12
©13

D. None of these

Answer: B

° Watch Video Solution

5
23. If sinf = 3 then the values of tanf and secf

respectively, are


https://dl.doubtnut.com/l/_IYXjZ4SEqqzl
https://dl.doubtnut.com/l/_BaHfv5OoQPzi

Answer: A

° Watch Video Solution

24. The value of

cos(90° + A)sec(360° — A)tan(180° — A)
is
sec(A — 720°)sin(540° + A)cot(A — 90°)

A0

B.1


https://dl.doubtnut.com/l/_BaHfv5OoQPzi
https://dl.doubtnut.com/l/_Ojp7kKGNBHNz

D. None of these

Answer: B

o Watch Video Solution

25. If tanf + sinf® = m and tanf — sinf = n, then find

the value of m? — n?.

A 4,/mn
B../mn
C.2,/mn

D. None of these

Answer: A



https://dl.doubtnut.com/l/_Ojp7kKGNBHNz
https://dl.doubtnut.com/l/_1xYJhOoLQ31h

[ W Watch Video Solution



https://dl.doubtnut.com/l/_1xYJhOoLQ31h

